dR(e,y) vs E_Ty (transverse energy) — all FSR y matched to truth bare electron

Delta R vs Transverse Energy
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dR(e,y) vs E_Ty (transverse energy) — most energetic FSR y matched to truth bare electron
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E_Ty (transverse energy) vs avg. dR(e,y)
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dR(e,y) vs avg. E_Ty (transverse energy)

Delta R vs Transverse Energy
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dR(e,y) vs E_1y — most energetic FSR y matched to truth bare electron

Delta R vs E1




E_1y vs avg. dR(e,y)
Delta R vs E1

2.5

1.5

0.5

IIII|IIII|[III|]]II|IIII|III[|I

D | 1 | [ | 1 | 1 I

10*



dR(e,y) vs avg. E_1y
Delta R vs E1
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dR(e,y) vs E_2y — most energetic FSR y matched to truth bare electron
Delta Rvs E2
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E_2y vs avg. dR(ey)
Delta R vs E2
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dR(e,y) vs avg. E_2y
Delta R vs E2
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dR(e,y) vs E_1/E_2y — most energetic FSR y matched to truth bare electron
Delta R vs E1/E2
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E_1/E_2y vs avg. dR(e,y)
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dR(e,y) vs avg. E_1/E_2y

Delta R vs E1/E2
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dR(e,y) vs E_0y — most energetic FSR y matched to truth bare electron
Delta R vs EO
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E_Oy vs avg. dR(e)y)
Delta R vs EO
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dR(e,y) vs avg. E_Qy
Delta R vs EO
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